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28. + -/ points LarTrig9 1.1.055.

Use the given arc length and radius to find the angle & (in radians).

9=|:|radian5 S = r&
2 = 1O
69 _ 2k

- —

26

=

29, + — points LarTrig3 1.1.054.

Find the radian measure of the central angle of a circle of radius r that intercepts an arc of length =.

Radius r Arc Length s

11 feet 3 feet

T o= Grdens (o g & 2O

X

See #28

30. + — points LarTrig® 1.1.053.MI.

Find the radian measure of the central angle of a circle of radius r that intercepts an arc of length s,

Radius r Arc Length s
40 kilometers 85 kilometers
See #28
S': c e
gs=M0E
258
= ==
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30. +, —/M points. LarTrig® 1.1.053.ML

Find the radian measure of the central angle of a circle of radius r that intercepts an arc of length =.

Radius r Arc Length s See #28 e

40 kilometers 85 kilometers 40

S=r0 —7 gs-W0O = O = 3%
)

31. + =M points LarTrig? 1.1.052.

Find the length of the arc an a circle of radius r intercepted by a central angle 8. (Round your answer ta two decimal places.)
. © o 1577
s<v@ = (G m (1507 )(—, =
1 0 2
~

—= el
\/qj/g < M(’L’SS'/]/M * S \
1@6 =
2T

o 15m-2
" 23.0613449

Radius r Central Angle @

9 meters is0°

32 + —1 points LarTrig® 1.1.051.

Find the length of the arc on a circle of radius r intercepted by a central angle 8. {(Round your answer to two decimal places.)

Radius r Central Angle @ See o A
17 inchesz 2402
- - Dy 3 W o weT -
s=T o= (.’:L w\(’)_\'ioo\ ( ‘500 \ = <_—,/_é,/ = ,/_—?:-‘ﬂ _3/_
BET-3 .
rl.28943348 2 F0aUISNG oo

Caonvert the angle measure from radians to degrees. Round to three decimal places.

33, + —M points LarTrigh 1.1.045.

=3.6m

o = (0@ (Z = (Y2 ) -

(&
’_bq(@‘OOO

34 + —/1 points LarTrig® 1.1.044.

Convert the angle measure from radians to degrees. Round to three decimal places.
17m/8 © )
H#= = 180 v\ (180
See HRY <?> ( e\ (3N (80
9)/’”
_ 1) _P2e2.5 00
e

= J —
174352
[ |

o

382,53
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35. 4+ —i1 points LarTrig3 1.1.041.

T A By

_ L\/“O:i(ﬂ o365 023 X 03B
19

36. * /2 peints LarTrigd 1.1.038.

Rewrite each angle in degree measure. (Do not use a calcglatnr.j

(a) _% _n ()'60
— R

Convert the angle measure from degrees to radians. Round to three decimal places.
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37. + —i2 points LarTrig® 1.1.037.

3T
: : (8) =
Rewrite each angle in degree measure. (Do not use a calculator)

= T Ce #30 \>

—

I C%—X _‘_(8_//0:37 - 2P (55 Ec,

k) = 6
5 Fu—\ [ 8o ) o
e (V) - e so?vloe
38,  + —i2 points LarTrig2 1.1.028. O"?/@

Rewrite each angle in radian measure as a multiple of . (Do not use a calculator)

(oo V2 -

radians

) 7z TN g
radians L—q_lo}( i B

39.  + —i2 points LarTrig2 1.1.035.

(a) &0° <ep 28

o N
radians —n0 (20° =

2
26
Ex
l?@
Rewrite each angle in radian measure as a multiple of m. (Do not use a calculator) /\’(

(b) —z0°

Aug 23-11:43 AM



	Page 1
	Page 2
	Page 3
	Page 4

